Topic 12 Review (Master)

Thursday, April 22, 2021 7:20 AM

Review for Chapter 12 Test i 3 30

1) Whatis the mBAE? 330

2) What is the length of DE?

20 2729 - 12.8Tem
200

3) What is the length of DAE?

330

—_— 2

300 2T (2 < 130 28 em

41 W’hat is the area of the orange sector?

2
_BT_ T (24)° - 1SO.80 em

5) What is the area of the white sector?

\emj-l’(« : N 2Ty

360

/‘ 2
: — T
Area 30,0 -

380 o (au) . LbSETL em”
230
&) Solve for x. 2 2 2
= 10 A 2 >
© = 100 a _rb =&
3 —30 4 s
(x*- 61 C = hyporen”

Xz ¥

7) In the figure below, if AC=17 and BC=14, what is the radius?

R

><1+J<1’= i
3 \\: = 2%9
14 \NE i
.
C
X= JT%

X< 9 LY
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8) The segment CD is tangent to circle T. Find m2TDC.

DG G + e = 150

12% — =130

G+ 1)

-4 -9

L2y = 34

2TDe = Yx+5 12 2.
= Y ()+S xX=7

. 33 .
9) ¥ P and PR are tangent to drcle E in the given figure, find the value of x and find PR.

XY= K + o - L
i Wl A e feret
< - 25 . a(a)-24
Sk.? v 3 -24
X=1 P 3

10) In circle O, mED=150 and AF = TD. Whatis the mCA?

M@: /SO
QA +c=130
C xQ4= 130 224-92:a
—6;\4-'9‘4 l
C: %0 = 132 A c
C
+j = )¥0 - :L
Ok-.\\,%, 12— 172 - 132 19
A= S b= Yo
® P

12) Solve for x. 13) In the circle below the center is E and AF 2 TD.
5x-20 If AR = 15x — 2 and £D = 10x + 23, what is the value of x?
N\ N
AR = CD A c
) Sx-2 = D rzf AB
- t
3x:30 — 1Dy T& —/ox
5x-20 = %x+30 - 25
—s X + - “*20 % ’g B )
x = S0
¥ 3 =5
X= 28
14) Solve for the inscribed angle. % ) ) ;Z 15) Find the intercepted arc. ﬁ(‘? - 1 (LABC'>
B LABCE
X
yi
9]
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SX +3x+%:=150 \-{a -2+ 02 =50

¥x +§ =82 Yy + 1] = 180

'x -7 ¢ —?5 -50

x= Nz : 90

g 9
X=21.8 y_‘z?ﬂs
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